Pre-Calculus 11 Ch# 5 Test Review.
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1. Convert each mixed radical to an entire radical.
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2. Convert each entire radical to a mixed radical in simplest form.
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4. Simplify radicals and collect like terms. State any restrictions on the values for the
variables.
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5. Order the following numbers from least to greatest: 3 \/_ V65,2417, 8
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6 Multiply. Express each product as a radical in simplest form.

Jila&

|
2

a) VZ(</6) b) (~3f/15)(2f*V/5)

=Jal - 64 EE - 30’

€) (V8)(3/18) _3\/4_227 “6J_—J

7 Multiply and simplify. Identify any restrictions on the values for the variable in part c).
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8. Rationalize each denominator.
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9. What is the exact perimeter of the triangle?
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10. The area of a rectangle is 12 square units. The width is (4 — /2 ) units. Determine

an expression for the length of the rectangle in simplest radical form.
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11. Solve each radical equation. Determine any restrictions on the values for the

variables.
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